HENEREREHES
SHISES5H198 (&)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 N1 34.8 45 36
N> 80.0 41 35
<t/ 5,446.5 41 36
E=X 2,185.7 368 100
HSXH LA 74.5 230 20
AAIH LA 33.1 929 169
JUH LA 1,202.5 631 20
LEHLA 197.4 389 35
FHELS LA 695.0 601 146
=FHLA 438.4 400 20
<AOLA 51.0 528 160
HNSAHLA 61.1 141 20
L0 28.6 39 20
2O0F 41.8 198 20
VAXTY 2,468.5 1,800 369
<7rd 60.0 1,523 819
TIAITAF A 354.8 230 20
F+77>39 1,891.8 200 20
HFHS 359.0 55 20
74 F XK 36.6 1,290 59
N 67.6 55 20
ALY 84.5 5,400 454

e

15,893.2




[f¥fa] (BT ¢ kg )

TRETRAE =V H =2 = 1B Z & M =
SE  23& < kS A 30.1 170 23
aAXHET 77.3 1,173 20
ZILAA ST 694.6 539 311
ZILAA 58 40.0 3,681 2,211 ﬁ 6c/s
1 c/s
TUAH 356.2 1,139 335
e = 65C/S
7o 58 325.0 5,252 2,000 |5 *
T2 ROAH 38.6 629 461
=X47 61.7 1,209 300
TFE47 8,014.5 779 30
FE+<3 400.9 1,850 600

D
[ =]

1§ 25,932.1




[f¥fa] (BT ¢ kg )

RETENE gy M 2 = 1B Z fB fm &
EERFE 1298 |<TH/\ 22.9 40 20
Ju 77.0 61 20
ESX 1,531.4 620 100
AATH LA 71.8 1,327 300
) LA 76.2 680 150
LA LA 61.0 355 51
IOHLA 63.8 1,398 31
<A 320.5 535 30
Zinl e 58.2 200 50
FHA 36.7 210 31
F7>09 308.7 194 40
HFHES 106.9 39 20
>Ox4)UL 163.0 1,193 589
905 38.7 1,000 800
ZXF 83.1 500 300
(A 28.8 2,000 700
JEZHRN 147.7 39 20
HFIA 178.8 1,520 300
TRIIR™ 100.8 700 20
T RIS 58.4 160 30
ESWAHZ 107.3 480 50
HY= 103.7 4,520 489
#D 6% >Ox4)UL 282.3 1,200 300
INEH 4,027.7




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
hT 148 EoWXHZ 78.3 480 50
EXTVYRS 111.3 169 100
aituE 4,217.3




[(&£) (BT ¢ kg )
JRETELE BfEg n = = 1B Z 1B B &
K 232 E=5X 86.7 400
<73 212.1 2,500
EEXNRIFE 129 |5 X 7,259.5 600
A2HLA 301.9 600
<AL A 248.8 7,000
I54 124.2 1,000
+77>37 61.3 100
XXF 352.6 600
NSO 49.1 1,500
mUiE 38 XX+ 46.7 600
#O 9o E=5X 106.4 1,000
hT 148 <A 334.7 1,500

T2

9,184.0




